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Discussion and Decision
1      Introduction
During RAN2 meeting #102, it has been agreed to clarify that A4 event doesn’t included serving cell and A5 event include SCell.

Agreements

1:
Serving cell cannot trigger Event A4.

2:
SCell (going above threshold2) can trigger Event A5.
Then in July Ad-hoc meeting, in the agreed CR, the event description was changed to reflect the agreement. Event A5 becomes: PCell/PSCell becomes worse than absolute threshold1 AND Neighbour/SCell becomes better than another absolute threshold2. Below is the chairman note for the corresponding agreed CR.
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=> A4 event also to be covered by the changes

=>
Revised in R2-1810903 (Offline discussion #56)
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=>
Update the coversheet to include agreement from last time on A4 event as well and explain that for A4 the spec is already sufficiently clear

=>
Agreed in R2-1810951 to be added to the EN-DC CR

=>
For next meeting check that the general requirements for which cells can trigger events are clear and correct for all events.

Furthermore, it is FFS to check if all events are clear. This contribution focuses on clarifying all other events in the description so it is clear without needing to read note in the procedure text to avoid future confusion.
2      Discussion

Below is current supported A events in TS38.331:

Event A1:
Serving becomes better than absolute threshold;

Event A2:
Serving becomes worse than absolute threshold;

Event A3:
Neighbour becomes amount of offset better than PCell/PSCell;

Event A4:
Neighbour becomes better than absolute threshold;

Event A5:
PCell/PSCell becomes worse than absolute threshold1 AND Neighbour/SCell becomes better than another absolute threshold2.

Event A6:
Neighbour becomes amount of offset better than SCell.

Based on the agreement from RAN2#102 meeting, event A4 and A5 are clear from the description where neighbour doesn’t include any serving cells. Current specification TS38.331 section 5.5.4.1 is copied and pasted as follow:
4>
if the eventA1 or eventA2 is configured in the corresponding reportConfig:

5>
consider only the serving cell to be applicable;

4>
else:

5>
for events involving a serving cell associated with a measObjectNRand neighbours associated with another measObjectNR, consider any serving cell associated with the other measObjectNR to be a neighbouring cell as well;
However, in current specification above, 2 cases are listed above (1) for event A1 or A2, only serving cell is applicable. And (2) otherwise, for serving cell on one measurement object and neighbour cell on the other, consider any serving cell to be neighbouring cell. Although the condition doesn’t refer to event A4, it causes some potential confusion in the definition of “neighbouring cells” because neighbouring cells includes any serving cell. 

Observation 1: the current procedure considering any serving cell to be neighbouring cells cause potential confusion in the definition of neighbouring cells in the specification. 

This is also not in LTE specification as well. Therefore, it should be removed to reduce confusion. 

Proposal 1: removed “5>
for events involving a serving cell associated with a measObjectNR and neighbours associated with another measObjectNR, consider any serving cell associated with the other measObjectNR to be a neighbouring cell as well;” in section 5.5.4.1 from the specification.

Instead, we would like to define clearly which cells should be considered for A3/A5 events and A4/A6 events. For A3/A5 events, both serving cell and neighbour cell are applicable. And for A4/A6 events, only neighbour cell is applicable. 
Proposal 2: Define the case which cells should be considered for A3/A5 events and A4/A6 events.
Now let’s look at each event to see if there is any confusion in the description. Event A1 and event A2 only related to serving cell, therefore they are ok.
Observation 2: Event A1 and event A2 do not required change.

For event A3 where neighbour becomes amount of offset better than PCell/PSCell. In this case, it is assumed that neighbour cell can include SCell similar to A5 event. Either case, we should pick one of the option below and update the description:

· Option 1: Event A3:
Neighbour (including SCell) becomes amount of offset better than PCell/PSCell;
· Option 2: Event A3:
Neighbour/SCell becomes amount of offset better than PCell/PSCell;
Given that considering SCell as neighbouring cell can cause confusion, option 2 would be more clear.  

Proposal 3: RAN2 to update the definition of Event 3 to add Scell i.e. Event A3: 
Neighbour/SCell becomes amount of offset better than PCell/PSCell.
We have discussed and had agreement for A4 and A5. As long as the definition of neighbouring cell is clear (by agreeing proposal 1 & 2), further change to A4 and A5 is not needed. 
Observation 3: As long as the definition of neighbouring cell is clear (by agreeing proposal 1 & 2), further change to A4 and A5 is not needed. 
Finally, event A6 where neighbour becomes amount of offset better than SCell. For this event, it doesn’t make sense to compare PCell and PSCell is better than SCell. Therefore, we propose neighbour cell doesn’t include any serving cell for event A6.

Proposal 4: Neighbour cell doesn’t include any serving cell for event A6.
Proposal 5: Agree CR in R2-1811666.

Conclusion

Observation 1: the current procedure considering any serving cell to be neighbouring cells cause potential confusion in the definition of neighbouring cells in the specification. 

Observation 2: Event A1 and event A2 do not required change.

Observation 3: As long as the definition of neighbouring cell is clear (by agreeing proposal 1 & 2), further change to A4 and A5 is not needed. 
Proposal 1: removed “5>
for events involving a serving cell associated with a measObjectNRand neighbours associated with another measObjectNR, consider any serving cell associated with the other measObjectNR to be a neighbouring cell as well;” in section 5.5.4.1 from the specification.

Proposal 2: Define the case which cells should be considered for A3/A5 events and A4/A6 events.

Proposal 3: RAN2 to update the definition of Event 3 to add Scell i.e. Event A3: 
Neighbour/SCell becomes amount of offset better than PCell/PSCell.
Proposal 4: Neighbour cell doesn’t include any serving cell for event A6.
Proposal 5: Agree CR in R2-1811666.
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